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COMPUTER

IEEE 802.6

a9, JOBEEE OO, WIRIZT.

W0W

(1) xot3o*es®
(2) LAN
(3) WAN

(4) mN

2. I@dress RINIBY, BB

85 QdoRE 207 m}ab dz.%x:’cra
(1) TELNET
(2) ICANN
(3) W3C

(4) BocdT 3RITB e

3. ewdcwon‘ 0 L —

RS T

(2) /% 583 d3ra
(3) Adadw Sewosses
(4) Bocds P
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4. FAT 201W38

(1) ,0° fonoge Soeys

(2) ,0° DowT BrcRs

(3) ooks® rbewa‘:t'a &aco—gﬁ

-

(4) >owF TocyT F mmw

5. IPv4 3,

: .‘_-__‘_-_

‘iﬁﬁﬂfﬂmu -‘"":':{J

< -
28 :
Jsof (MICR) (Magnetic

Character Recognition)
mog

%) dm“
(2) eodver BS

(3) mwrRs BS 7

(4) SedRoms BN




1. uses a standard 4, FAT stands for -
called IEEE 802.6.

(1) Int t (1) File Attribute Table
nterne

(2) LAN (2) File Allocation Table
(3) WANT, (3) Font Attribute Table
(4) JMAN

s (4) Format Allocation Table

4 -
-

, 5. The size of IPv4 is . bits.
2. Which'. of the following
organizations was created to =

manage IP address sp

(1) TELNET 128
(2) ICANN
(3) W3C

(4) None of the aboy SNy

“"'Aﬁ"ﬁ"’"ﬂiﬂl1"’ =" (Magnetic Ink

firacter Recognition) is

3. Operat1
responsp m? 9
| evice
(1) memory management
(2) logical device
(2) I/O device management

(3) CPU scheduling (3) input device

(4) All of the above (4) keyboard device

/472-A (135) | [ TY0.



(1) Win+Shift
(2) Win+Space
(3) Win+Tab
(4) Win+Ctrl
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&3 z’uazzbd.\m : 1
WBeRIHN
ol de w3 ez

7. 2092509 063 10. IoT 2¥WT H7,3 B 0de)TO?
(1) HoeBodm  BoL3TsSLss (1) woswore 303,250
BoRerst DZVBrivo (ROLTSBE® e3® E350028)
(2) mqj”w"U‘_’Qﬁfﬁs QOLITS S e3® (2) e03zFe  ROTORNAYO
‘_s
Boeer AgHBRL (ROUTRLSE 63° LRy
3) ©o3Wore . IWonNe
(3) BOBorBpes®  @oLITTHES (3) (;ﬁ;ﬂww&w o
Soderst DY Ssrioh - K
b (4) woswor®  A@Eaonsh
(4) dot:gwo‘a'éjam Q03T &3¢ (ROLITSIES® e53p% L5 RF)
&W RS0
zr,-f!
|, 32002 w300 : —
- - %
8. PPP &otd @4 B
(1) Pesson  to (i) & Botdos
Protocol
(2) Point to Point P t (i) sokb,0ins
DY 08T GBS,
(3) Pin to Pin Protocol i3 agodnzcH
(4) Peer to Peer Protoeuimiim—one (it1) &5, odots*
“‘-j‘é:.-‘?.’f"ﬂmn o= .
(iv) Bg — Bextel o'
sem Negaessdﬁvm
9 g CuR3T

%m

(d)
(1) @ () @G (i)
(2) ) (@) (i) (1)
) @ (@) (ii) (v)
(4) (v) (@) (@) ()

(4)



7. MIME sfands for 10. What is the full form of [oT?

(1) Multimedia Internet (1) Internet of Technology

Message Extensions
(2) Internet of Tools

(2) Multipurpose Internet _
Mail Extensions (3) Internet of Things

(3) Multipurpose Internet (4) Internet of Transaction

Message  Extensions

(4) gi;‘ﬂi’:!l:I'tipurpose Internet 11. Match the folldwfﬁg ;
: Mml Exchange

List-A wihist—B
=, (a) Strike- (i) Ayperlink
8. PPP.stands for —

through

(1) Pérson  to APEESOoLEN escript | fiijdraws a line
Protocol ' through the

middle of the

(2) Point to Point sclected text

(3) Pin to Pin Protog@l ez Cir (iii) left indent
(4) Peer to Peer Protdg *, =" (iv) creates
e bl

9. What is the key baseline

. o W

and K @%} (d)

(1) Win+Shift (1) (i) (iv) (i) (iii)

(2) Win+Space (2) (iv) (ii) (iii) (i)

(3) Win+Tab (3) (i) (i) (iii) (iv)

(4) Win+Ctrl (4) (iv) (iii) (i) (i)

/472-A : (5) [ P. T. O.



12. 300103 230200 :

(a) dcmemss (i) Femmdmeootiont
D

(b) &es® S (i) woet )
WO NLL

(c) &3, Fooo,w(iil) 98 Fomoos; Betso
oot BF°

(d) 3Pz (iv) 2893 c-s Tk

@oook3on?® aqj#
afi), Bfii), c(iv), d(ii
a(iv), b(i), c(iii), d (i)
afi), bii), c(ii), d(i)
afiii)y. bfiv), cfi), d(ii)

(1)
(2)
(3)
(4)

FVNT o3 MU, HORedd :
dei B DR® HowOT erapl
ML SR PPV TR, A
3039,95 Ageven® ge3,. B
dex gt DT
00300 BN VPAZBTOST 3

13.
(@)

(b)

(c)
SOTOTIRROBIN Des sOYR
0t330° 9 0doe YBOIB.

DRI wet & I DeFITE
@,=5°09), B0
qg—";acoao‘ri%f_ >

DeR,30° Dot 3810 B,
e o3, 1)

(1) (a), (b) S22 (c) ne 3O
(2) (a), (b) R0y (d) rigo 5O
(3) (a), (c) 03y (d) Reb 3O
(4) (@), (b), (c) S0F3 (d) rieb %O

(d)
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dpeden  Fw' WRRITE WIROD
2 ced ezt
(1) s=o® &s°,

3 ctdncsoet

£59,0° DORAD* T0oeds0,c*
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239, etd0eToes’
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59,0 QUB®
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(4)
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S, BRDT Z) B
' s e3odnn
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(2) (a), (b) D03 (d) neb 3D
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(4) (a), (b) SRy (c) rieb 3D



12. Match the following :

(a) Keyboard (i) A stationary
pointing device

(ii) Ball and
buttons

(c) Trackpad (iii) Most common
data entry
device

(iv) Electro-optical
pointing device

(WYl bi), cliv), dii

(2)“a(iv), b(i), cfiij), d(i)

(3)=af(iv)y. bfir), cfii), d(i)

(4 a(ti), bfiv), c(i), dfii)
nsider.  the following

statements :

e g Recycle Bi

temporary  stor

where. one can

files or folders t

longer needed.

Items in the R

(b) Light pen

(d) Mouse,

13.

(@)

(b)

permanently deleted

()
Recycle Bin

permanenty_
restor

Files

dleted or

(d)

drive are sent to the Recycle
Bin when deleted.
Statements

(1) (a), (b) and (c) are true
(2) (a), (b) and (d) are true
(3) (a), (c) and (d) are true
(4) (@), (b), (c) and (d) are true

/472-A

i lde e s
removab V€ Oor ork

"'----".

An item remai ‘F"'*?wip "" -.-.-a'

(7)

14. The protocol used by a web

browser to request web

pages from the web server

is

(1) Hypertext Transmission
Protocol

(2) Transmission Control
Protocel _/ Internet
Protocol

(3) Simple /Network

Management Protocol
(4) Hypertext nglsfer

" Protocol

Consider

the H ) following
tatements : o

e Karnataka.Government
s and makes the Nudi
tware available for free.

mtiiudi was developed by the
° Kannada Ganaka Parishat.

Nudi supports most of the
dows based database
Stems like Access, Oracle,
QL, DB2 etc.

udi i E not support

1) (a), (b), (c) and (d) are true
(2) (a), (b) and (d) are true
(3) (b), (c) and (d) are true
(4) (a), (b) and (c) are true

[#R. 3.10.



16. o33, oroeameN 333 3,30

(1) 30, Jvemr, eef, IFES,
detsulex®

(2) @3o, ee8, Cwu's, TGS,
deesoner®
(3) ety OwE't, ¥¥o,

detsoie®, 333
;'{‘.n

deek, UG, BES, Betnrls
ST

17. CPUS Senas), sdainmoiy

(1) 38  OFBoer

RBoIROT 138, e

(3)

3,8 Tzt QCOT MBIV
(ALAAN)

(4) B8 maSecsBorr WO

RBoIRTT 233, rieo
/472-A

(8)

18. &8 Send 0300 50

(1)
(2)

OB?SUJ‘
mﬂa‘

(3) Bre®

(4) Bwet detso Betsty SDRAM

(DDR SDRAM]
7.,

i O]

&

19. &’)B'ga—aaas’s‘ NOTY  BRCRY "THITOS
SoReT
FHoILS

RRT MO.DEQL
Fwot %@dﬂﬁ
‘“e;-s.h

P03 N Hone
), Aedd =,8x0
e waﬁaﬁg{agd?




16. Correct hierarchy of data
according to size is

(1) Character, Record,
Field, Files, Database

(2) Character, Field,
2 Record, Files, Database

o
"

(ST’Fleld Record,
“Character, Database
o Kiles

(4) Field, Charac
“Database Reg

17. The speed of \§
measured 1in terms

(1) clock cycles
second
(2)
(3) clock cycles per second
(4) clock cycles per

nano second

/472-A

(9)

18. Identify the fastest type of
memory.

RAM
Cache
ROM

Double Data Rate
SDRAM (DDR SDRAM)

(1)
(2)
(3)
(4)

R

19.

A cyber crime“of*accessing

sensitive . .informétion by
impersonating’ oneself as a
trustworthy _-enti n a
igital commumﬁatmn is

led

hacking

cyber stealing
cyberstalking
phishing

J. Predefined set of colors,
d visual effects
for slides in
for providing
appearance 1is
called

(1)
(2)
(3)
(4)

template
slide layout
theme

slide master

[ BT ‘o



21. Excel ®9 =zozgpeer

evel e 24. cdoutfaer® BIOT Yrine x0odnRa

B3IV, RAWTEL WIRIT B, T30
(1) @
(1) SBp ctdncsoes, By,
(2) ! B0, To3*, TEIT BITL
(3) # _
(2) Bpcdocsaes,, BB, EIT
4) $_ BRI, BeB,n* *:ddq
(3) 3EIB BRTo, WALIT 230,
22. 138, f@ns BBt S038F2 30, e830650E, w

o T
(2) 11015
(3) 1111

(4) 1001,

23. 35080 mﬁwwa MONOT]

(1) B, For,Beaq TSV, F, Bt

>

O,F° B3, BPctcToes,
b, TEIW DAL

i
i

nef  Fosdobs®
odna oed
OBTCLIT?
T, BRODTOIZS.

F T

(2)
Sert, 3B W3S
(3) &3z Sy DTT, Bonw z»'oaiérw\)
(3) 3B ForiEeme mBoT;F, WO, BRODBHOBTIZS.
3RD Sen, By, 3¢S
(4) 3BRO Zor B FOROT,F, Bk, (4) 8%, wed, Fone zoakney
Sert, 5830 w38 DFT, BROVIHOBTIZ .
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21. Absolute cell reference is

indicated in Excel wusing
__ symbol.

(1) @

(a) 1

(3) #ew

(4)

22. Thew binary equivalent

simal number 13 is

(1)F1011
(2) debO1,
(3) 11814

(4) 1001,

.__-_
—
*.5‘?" -""'"‘“;';1 -

23. Characteristics of

storage are

SN b._'

(1) hxgtdr
mg@@ﬁ@m

(2) high storage -capacity,
low speed, low cost

(3) low storage capacity,
low speed, high cost

(4) low storage capacity,
high speed, low cost

/472-A (24 )

24. Correct sequence of parts of

a URL 1s

(1)

(3)

(4)

AW hat
lignments for content in
pe. MS Excel cell?

protocol, domain name,
path, file name

protocol, _path, file
name, domain name

e
T

file name, %, domain
name, protocol; path

—‘;-r

domain namey protocol
path, file name

are the default

Aliggd right

' %Ieft

Text left aligned,
numbers right aligned

Text  right  aligned,
numbers left aligned

FpRnic.



26. 8 FIINTIYHNYY, cdnho Swe
W0, 80°% Q) ?

(1) od»nms
(2) Renef sn cRo®
(3) Lynz,

(4) wsoe

N3 ar

!k-

27. eao:i@row 9,004 196909

US Q‘ﬁ*m QeRAI0OB

(1) BITNET
(2) NSFNET
(3) USENET

(4) ARPANET

(1) Vrfteglu
(2) vArftegLu
(3) vAteFgLu

(4) vAteFglu
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28. 8 6.0 ? | ——
I3 Se @
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(1) 320BoBT0° Bo3ed
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26. Which of the following is not
a web browser?

(1) Yahoo
(2) Google Chrome
(3) Lynx

(4) Opera

_start of Internet was
‘decentralized network
called in 1969 b
d&!}qe department

27. 1

(1) BITNET
(2) NSFNET
(3) USENET

(4) ARPANET

wﬂ-"ﬁiﬂn -

o g_'_'!l i

28. The k
word ¢
version

(1) VrftegLlu
(2) vArftegLu
(3) vAteFgLu
(4) vAteFglU
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-_..h""!--!

em;[ue. ce for the th qeti
868 T3.8¢

(13)

29. Which of the following is
not used as secondary
storage?

(1) Semiconductor memory
(2) Magnetic disk

(@) Magnetdng

(4) Magnetic t@pﬁj

1.‘

at is gutter margm’?

) Margin that is added to
the left margin when
printing

Margin that is added to
ight margin when

(QA that is added to

the binding side of the
page when printing

(4) Margin that is added to
the outside of the page
when printing

APET 20,
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GENERAL ENGLISH

Direction : In Question Nos. 66
to 69, there are sentences which
are divided and numbered into
three parts and one of the parts
may contain an error. Identify
the error by (1), (2) or (3) given
under the ‘parts of the sentence.
If there is no error, mark (4) no
error. .Shade/blacken the
correspogéing Ciglet fin \your
Answer Sheet.

Exam@: X

Neither the /. nor hi

L)

were present that

(3)

No error

(4)

Explanation
answer in thj L

It should beg$¥a ﬁF
day”, so yMm e
blacken the option (3) for this
question in your Answer Sheet.

The Pacificis / a deepest
.
(1) (2)
ogEan g/ in the world. /
(3)
No error -
(4)
| o
V 2

.
-
# g

e coach told that/ every
(1) (2)

of the _p_la;r_enisw-a‘/ have to

. (3)
d the training. /
0 error
69. NOQ)HCF did / the tiger
(1) (2)

appear / then he shot it
(3)
down. / No error

(4)

g, My twoson-m-ldw , have
: (1) (2)
come / to see me. / No error
(3) (4)
/472-A (20)



Direction : Read the following 71. Vocabulary could be
passage and answer  the enhanced through
questions that follow (Question
Nos. 70 to 73). Your answers to (1) reading
these questions should be based
on the passage only. (2) conversation

Passage (3) dictionary
Possessj,,pg a.good vocabulary is (4) All of the aibgg
an assetsGood vocabulary is a
mark offculture. It also aids in N,
succesg{ul _self-expression. . .
Experts ‘opine that vocabulary 72. Good vocabul% 18

essential because Zit"

enhancgs reading comprehensios
too. WVecabulary cou
enriched through varioug
such @8 readin
conversation. Referr
dictionary 1is a ve
vocabulary building exen
enlarge the word-stock, of¥
to develop the habit of gl '
idly over the dictionary. Kg
language enthusiast, g
should be a lifelong co

70. ‘Vocabul l

(1) word-stoc

ik is a mark.of culture
hids in_self-expression

enhances reading
comprehension

. All of the above

th rd that does not

(2) voice

(2) Enhance

(3) vehicle (3) Enrich

(4) gestures (4) Enlarge

/472-A (21) [R5 O



Direction : Choose the synonyms
for the given underlined words
(Question Nos. 74 to 77) and
shade / blacken the  correct
answer in your Answer Sheet.

Example :
push and it opened.

(1) Weak (2) Strong
(3) Weaker - (4) String

Bty Sy

S

Explanation : In the ansy
word strong;-that is opf
is synonym to the undg
word ‘mighty’ in th
sentence. So you have to §
blacken option (2)
Answer Sheet.

74. Obstinate  people
others’ 11ves difficult.

77
() mnoceqjaaas'

(2) Submissive

(3) Stubborn

(4) Unhappy

/472-A

He gave it a mighty

75. Savoury foods are not
necessarily healthy.
(1) Salty
(2) Oily

(3) Appetizing.

(4) Rancid

76. The erring accountant was
ordered to make full
estitution to the etggneved

arw, it doesn’t
@L\%earning self-
(1) Soft

(2) Slavish

(3) Generous

(4) Cunning

(22)



Direction : To answer Question
Nos. 78 to 81, choose the word
which is an antonym or the
most opposite in meaning to
the underlined word and
shade/blacken the corresponding
circle in your Answer Sheet.

Example : Girl was represented

as a true,patriot.

(1) mpatrlot
(2) Trajtor
(3) .uTraxlor

(4) Nationalist

Explanation : In the ans\g
word ‘traitor’, that is optior )
opposite of the underlined
‘patriot’. So you have to shi
blacken option (2) in youAz:
Sheet.

78. My gran(“r :

into volufiio
(1) Small
(2) Large

(3) Vast

(4) Spacious

/472-A (23)

79. We have abundant
evidence to prove his guilt.

(1) Rich
(2) Scarce
(3) Infinite
yp
(4) Profuse e
.
r

A hgg
80. She hated the ms
of his voice.

tone

X4

(2) Employed

(3) Astute

(4) Necessary ,

[P.av 0,



Direction : Question Nos. 82 to
85 are designed to test your
ability to use the right prefix.
Add a prefix so that the word
conveys the meaning given in
the brackets. Choose the most
appropriate answer from the
alternatives_ given below to
complete the word by adding the

prefix qgg:l sshade/blacken the
corresponding circle in your
Answer Sheet.

Example : The chief guest
inaugurated a purpose
society.

(The “society that wor

(1) multa
(3) fore

Explanation

option (1) in your Ans
for example.

82. There
small
against

( Reduce the value of the dollar )
(1) de-
(2) in-
(3) dis-
(4) un- ,

/472-A

83. He was worried that the
plan might fire.

~ ( To fail to have the effect,

to not work correctly )

(1) im-

(2) ‘an-

(3) un- ‘

(4) mis- .
‘E-CL;

84. This month markssmy first
anniversary as ‘a
smoker

rson who does not srnoke )

ere was a marital
the court would
e matter.
( ap@ng ore marriage )
(1) pre-
(2) post-
(3) under-
(4) un-

(24)



Direction : For Question Nos. 86 to
89, underlined idiom or phrase
has been used in the sentence.
You have to choose the sentence
which explains the correct
meaning of that and shade/
blacken the correct answer in
your Answer Sheet.

Example 3 Everyone speaks of
gravity of employment in India
but verypufeW suggest away out
of the woed.

(1) Everyone speaks of
gravity of employment in
gindia but very few
suggest away free
‘danger or difficul

(2) Everyone spe
gravity of emploj
India .but ve

(3) Everyone

India but
suggest away i
danger.

(4) Ever
gravi
India
suggest

iculty.

Explanation : The answer is
option (1) as the underlined part
means ‘free from danger’. So you
have to choose option (1) and
shade/blacken the corresponding
answer in your Answer Sheet.

/472-A
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86. Willy nilly he has to go
there.

(1) He praises. or..not, he
has to go there.

(2) He wishes or not, he
has to gosthere.

(3) He is notywishes he has

to go there,
& 4
(4) He prays-or not, he has
to goithete. "=
87. The communal é%licy of

Aurangzeb put thedast nail

the coffiny“of the

al Empire.

he communal policy of
urangzeb opened the
Mughal Empire.

: P) The communal policy of
Aurangzeb was the last
vent which brought
about the complete end
Mughal Empire.

of t
w h%munal policy
p1

gzeb brought
to the Mughal
Empire.

(4) .The communal policy of
Aurangzeb was the last
event that gave good
name to the Mughal
Empire.

& 5 2leY



88. Don’t believe him. He is

a wolf in sheep’s clothing.

(1) Don’t believe him. He is
a ruthless person who
pretends to be harmless.

(2) Don’t believe him. He is

““dangerous person
who pretends to be
Mmful

(3) ﬁon’t believe him. He is
a worthless person.
-

(4) 4JDon’t believe him. ]
cunning to otheg

89. Shylock had a win{

suddenly became r

(1) Shylock had
unexpected
fortune and
became rich.

;«--.-..;I a""
Ldde "mn

Direction : For Question Nos.
90 to 93, a word/phrase is given
followed by four options. You
have to select the option which
explains the meaning of the
word /phrase and shade/blacken
the correct answer in your
Answer Sheet.

Example : Amass '

(1) Concentratc up

(2) Rotate

ation : Amass means
@mulate’, so option (3) is
Bct and you have to shade/
e the same in your

. l!'"ﬁn.._'

(2) Shylﬂ g
gain \
becaltie NG

(3) Shylock had suddenly
become rich.

(4) Shylock had an
expected good fortune
and became rich.

/472-A

(2) Polished
(3) Guileless

(4) Affected

(26)



91.

92.

93.

Imbecile Direction : Question Nos. 94 to
97 have an expression each
(1) Mentally weak which can be replaced by a

single word. Choose the most
appropriate word from among

(2) Mental giant the alternatives and shade/
blacken the corresponding circle

(3) Intellectual in your Answer Sheet.

(4) Wise Example : The story of a

person’s life, written/by another

(1) Biography

Squalid
- (2) Autography

(1)*Disorderly
: Paragraphy

101l
(2) Inferiorly Autobiography

=) Bty Mtgnation : Since Biography’
8- most appropriate word for
(4) Dreary piven expression. You have

Rut'hlessd ‘ w F laceg burial
(1) Symwa (1)@%

(2) Truth (2) Anniversary
(3) Careless o (3) Contemporary
'(4) Merciless (4) Amnesty

/472-A (27 ) FR.io,



95. Government by the
representatives of the
people

{1} Detective
(2) Democracy
(3) Nurserny
(4) Mercenary

96. That%icﬁ is against law
(1) rﬁeglble
(2) rﬁirc:t
(3)
(4) Indelible

T"‘,egal

97. One who has great
one’s country

(1) Patient
(2) Pedestrian
(3) Veteran
(4) Patriot

Direction : asto -

100 are bas
comparlso (positive,
comparatwe superlative).

Fill in the blanks with the most
appropriate word/words = from
the given alternatives and
shade/blacken the corresponding
circle accordingly in your
Answer Sheet.

Example : A kite
as a plane.

(1) high

(2) highest

(3) higher

(4) more_ highs

can’t fly as

Explanation : Smce option (1)
is the correct chjce for the

above question, 's

you must

shade/blacken Optlenh (1) in
your Answer Sheet.

98. Dolly works

% than

E

e speaks __ | of all.
loudly
ost loudly
(3) loud
the above

100. H@‘ sing as

(1) melodiously

(2) melodiest

(3) melodier

(4) more melody

- /472-A (28)
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